KENDRIYA VIDYALAYA SANGATHAN
CBT ANSWER KEY
CLASS 4 ,JULY MONTH
Marking Scheme
Total number of questions - 40
Total marks - 40
Each section - 10 marks

1 mark for each question

SUBJECT : ENGLISH
Q| Read the comprehension and answer the following questions.
One day, in a small town a magician was showing many tricks. Everyone laughed and
clapped loudly. He put his hand into his long hat and pulled out a white rabbit. All the
people went clap, clap, clap! After the magician's show was over he went to another
town. On his way he passed through the jungle.

1. Who was showing many tricks in a small town?
A. A Clown
B. A Carpenter
C. A Magician
D. A Hawker

2. What animal did the magician take out from the hat?
A. Arat
B. A rabbit
C. Asnake
D. Acat



3. What did the people do when they saw the rabbit?
A. Screamed
B. Cried
C. Jumped
D. Clapped

4. After the show was over where did the magician go ?

A. Another town
B. Another village
C. Another city
D. To the seaside

5.0n his way the magician passed through the

A. River
B. Lake
C. Valley
D. Jungle

6.Who wakes Neha up at the third time?
A. Birds
B. Sun
C. Mother
D. Alarm Clock



7.In the poem "Noses" the poet compares a nose with:
A. Door
B. Lock
C. Handle
D. Window

8. Fill in the blanks. - The little fir tree up the next day.
A. broke
B. woke
C. came
D. began

9. Choose the word that rhymes with " grow.
A. Show
B. Nose
C. Thing
D. fine

10. We use nose to;
A. Eat
B. see
C. Smell
D. touch
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SUBJECT : MATHS
CBT MONTH JULY ANSWER KEY

Q. 1- Choose the correct numeral- FOUR LAKHS EIGHTY THREE THOUSAND
FIVE HUNDRED TWENTY SEVEN.

1)456860
2)804527
3)483527

4)485327

Q. 2 One day muniya and Zainab are playing with bricks and making their walls .

Which of these brick wall will be stronger?
1. Muniya

2. Zainab



Q. 3 One more than 9999?

1. 1000

2.10000

3.100000

4.1000000

Ans- 10000

Q. 4 How many faces are in the above shape.

8
12
6
10

O bd =

Q. 5 How many corners are in the shape?

10
12

DD

Q. 6 How many triangle are in this picture.

10
12

0 bd -~



Q. 7 Who is the closest to the finishing line ?

Neenu
Buntu

Vinni

0 bd -~

Roshan

Ans- 2. Buntu

Q.8 How far is Neenu from the finishing line ?
1)4m

2)3.50 m

3)50 cm

4)6 m

Ans -2)3.50 m

Q.9 Sonu has the highest jump of 2 m 40 cm. Golu's jump is 40 cm less than
Sonu's jump and Bholu's jump is 30 cm more than Golu's jump.

How high is Golu's jump ?
1)2m40 cm

2)2m

3)40 cm

4) 30 cm



Q.10 Who is second?
1. SONU
2.Bholu

3.Golu

SUBJECT : EVS

Reeta and Rohan were classmates. Rita's father got transferred to Ladakh . Rita
went to school by bus in her old school now she has to walk 2 kilometers to
reach school .Rohan is now studying in Kerala . Sometimes he goes to school by
bus and sometimes by boat. People use various types of transport based on
where they live. In villages, bullock carts are common because they are strong
enough to travel on rough roads. In cities, buses and trains are popular because
they can carry many people at once. Near rivers and seas, boats help people

travel across water.
Now answer the following question based on the passage
1.What is the main advantage of boats as a means of transport?

A) They are fast
B) They can carry heavy loads
C) They can travel on rough roads

D) They can travel across water



2.Why are buses and trains popular in cities?
A)They are costly

B) They are fast

C) They can carry many people

D) They are small

3.Why are bullock carts used in villages?
A)They are fast

B) They can carry heavy loads

C) They can travel on rough roads

D) All of the above

4 Rita walks 2 kilometers to reach school .Why?

A) She has no bicycle.

B) To reach school she has to cross rough and rocky areas.
C) There are no buses in Ladakh.

D)None of the above

5.Means of transport should be based on
A) Landform

B)Availability

C)Both of the above

D)None of the above



6.Which of the following animals has no ears and is not properly visible?
A)Cat

B).Dog

C).Rat

D).Snake

7.lf a hive has no queen, what will happen to the hive after some time
IA) The worker bees will start laying eggs.

B) The hive will fail to produce new bees and eventually die..

C) The bees will produce more honey to compensate.

D) The bees will start fighting among themselves

8.Why do elephants cover themselves with mud?

A) To stay clean.

.B) To cool down and protect their skin from the sun
.C) To look pretty

.D) To scare other animals

9.What would happen if there were no trees around us?

A) There would be more space to play.

B) There would be less shade and fewer fruits, and animals would lose their homes.
C) There would be more rain.

D)Our earth would be cleaner.



10.Some animals have ear holes instead of visible ears.Why?
A) To make it easier for them to swim or burrow

B) Because they don't need to hear

C) Because they don't have enemies

D) Because they can’t grow ears.





